Bob the Builder
Bob is a top quality builder who charges $20 per hour plus a standard call out fee of $40.  Copy and complete Bob’s charge out table below:

	# Hours (h)
	0
	1
	2
	3
	4

	Cost (c)
	
	
	
	
	


Now plot this information on a graph:

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	



1) What is the equation of the line?

2) What does the y-intercept represent?

3) What does the gradient represent?

4) Use the graph to find how much Bob will charge in total after a) 8 hours

  b) 5 ½ hours

5) Use the equation to find out how much Bob will charge for 16 hours
6) Bob charged $180 for a particular job.  How long did he spend on it?

7) Bob spent two 8 hour days and a further 3 hrs on a job.  How much did he charge?
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